oa4F 2159 do] | A5+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31l.4cm 10 cm
(4) 12.56 cm 4cm
(5 18.84 cm 6 cm

® 3.141 @ 3.1416 ® 3.142

®)3.14 ® 3.1

21.98 = 7, 37.68 = 12, 31.4 = 10,
12.56 =+ 4, 18.84 + 6
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A%7} 53.38cme) Y| WAZY Lol F emPU7H

@ 8cm @ 7.5cm @8.5(:111
@ 17cm ® 3.14cm

B

(95F) = (AE) x3.140]122

53.38 = (X&) x3.14 JYrt.

(A2) =53.38 +3.14 = 17(cm) 0|22
g2 8-9] 4ol 8.5cmY YTt




13. 7190l 2 E0] 20mel ¥ RoFo] S+ &4
7t9gole 2 mE AJSU7R
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(7rgol7t AL Ad) = (352 E4) x2
=20x3.14x2 = 125.6(m)
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¥IXIEo] 12em 9 U @9 AE0] 16eme) A @7 G,
A @ Holt ¥ 02 Wolrt [ Jem? Wt
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(¥ @2] Wol)=12 x 12 x 3.14 = 452.16 cm?

(¥ @9] Hol)= 8 x 8 x 3.14 = 200.96 cm?

webA A @7t 9 @B 452.16 — 200.96 = 251.2cm? § B
yrt.
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AXAX3.14 =785
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> Hg: 39.25cm?
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(#8 10emel 02] elo) 1)

- (48l 5eml 29 Wele] )

= 10x10><3.14><}1)—<5x5x3.14><%>

— 78.5— 39.25 = 39.25( cm?)
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=99} Hel)+(AAzE 2l Yel)
=2%x2x3.14+4x%x15

= 12.56 + 60 = 72.56( m?) = 725600( cm?)
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A9} golot Az yol7t Fon@ 4743 Hol A
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- (A& v 1)=6.28(cm)
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wetA] 9e] Yol Foh
7X7x3.14 = 153.86( cm?) YT}

(29 =) =(FA A9 ) ol=2=
Ao] EE£10.99 x 4 = 43.96( cm)
Z, Qo] HH2] 52 43.96 + 3.14 + 2 = 7(cm)
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wheba] A f2 o] Yol FPANAFG 2 WololA v Fol
6cm?l ¥ HolE W A 254t

(12x10) — (6 x 6 x 3.14)

=120 - 113.04

= 6.96( cm?)
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o] Eale} Z&Uh
(4x2x%x3.14) x4+ (4%x2)
=100.48 + 8 = 108.48( cm)




